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@ Ellipse double a.
a b

accessMajor accessMinor a b (9%)

public class Ellipse
{
private double a; //
private double b; //
public Ellipse(double a, double b)

{
this.a = a;
this.b = b;
}
public double accessMajor
{

get { return a; }
set { a = value; }
}
public double accessMinor
{
get { return b; }
set { b = value; }
}
}

(b) Circle Ellipse r
a b r accessR
a a b (6%)

public class Circle - Ellipse

{
public Circle(double r) : base( r, r ) {}

public double accessR

{
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get { return base.accessMajor; }

set

{
base.accessMajor = value;
base.accessMinor = value;

+

+
}
(© Shape GetArea()

double (3%)

abstract class Shape

{
public abstract double GetArea();
}
(d) @ Ellipse Shape
GetArea() ( 3 %) | na b ]

public class Ellipse : Shape
{
private double a; //
private double b; //
public Ellipse(double a, double b)

{
this.a = a;
this.b = b;
}
public double accessMajor
{

get { return a; }
set { a = value; }

}

public double accessMinor

{
get { return b; }

set { b = value; }
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}

public override double GetArea()

{
return Math.Pl*a*b;
b5
b5

(e Ellipse 0
throw ArgumentException ( 3 %)

public class Ellipse : Shape
{
private double a; //
private double b; 7/
public Ellipse(double a, double b)
{
iTf (a<=0]] b<=0)
throw new ArgumentException(

")
this.a = a
this.b = b
+
public double accessMajor
{
get { return a; }
set
{
it (value <= 0 )
throw new ArgumentException(
")
a = value;
}
+
public double accessMinor
{
get { return b; }
set
{
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1T (value <= 0)
throw new ArgumentException(
" ");
b = value;
+
+

public override double GetArea()

{
return Math.Pl*a*b;
b5
b5

()] ab e
try-catch FormatException ArgumentException
Exception
(6%)

class Program

{

static void Main(string[] args)
{
bool failed = true;
do
{
try
{
Console._WriteLine(™ a);
double a =
double.Parse(Console.ReadLine());
Console._WriteLine(™ b™);
double b =
double.Parse(Console.ReadLine());
Ellipse e = new Ellipse(a, b);

Console._WriteLine(™ e a="+
e.accessMajor);
Console._WriteLine(™ e b ="+

e.accessMinor);
failed = false;
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}

catch (FormatException ex)

{

Console._WriteLine(ex);

}

catch (ArgumentException ex)

{

Console._WriteLine(ex);

}

catch (Exception ex)

{

Console._WriteLine(ex);

¥
} while (failed);
¥
¥

(@) (6%)
Test t = Test(1l); = Test t = new Test(l);
Console._WriteLine(t.accessl);

public class Test {

int 1;

public Test(int 1) {
this.i = 1i;

¥

protected int accessl { = public int accessl {
get { return 1; }
¥
¥

(b) (3%)
interface Shape {
public double GetArea(); = double GetArea();

}
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(©) (3%).
public abstract class Bird { = interface Bird {
public virtual void FlyQ; = void Fly(Q;

}

public abstract class Beast { = interface Beast {
public virtual void HasFur(); = void HasFur();

}

public class Bat : Bird, Beast {
public Bat() {

Console._WriteLine(™ ");

¥

public void HasFur() {
Console._WriteLine(™ ");

¥

public void Fly(Q {
Console._WriteLine(™ ");

¥

¥
(d) (3%)

double a = 5.0;

Square sq0 = new Square(a);

Square sql = sg0; = Square sgl = new Square( sq0 );
sqg0.accessA = a + 1.0; // sqgl

public class Square {

private double a;

public Square(double a) {
this.a = a;

}

public double accessA

{
get { return a; }
set { a = value; }
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¥
public Square(Square sq){ 7/
a = sg-a;

}

}

() (3%)
public class Test {

int i1;

public Test(int 1) {
this.i = i;

¥

public static bool operator >(Test opl,
Test op2) {
bool result = (opl.1 > op2.i1);
return result;

¥

>

public static bool operator <(Test opl,
Test op2) {
bool result = (opl.i1 < op2.1);
return result;

}

3. (12%)
using System;
namespace Final2007

{

class Program
{
static void Main(string[] args)
{
Shape shape = new Shape();
shape.Draw();
System.Console _WriteLine(""--————-—-—- ");
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Square sq = new Square();
sq-Draw();
System.Console.WriteLine("--------—- ")

Circle ¢ = new Circle();
c.Draw();
System.Console.WriteLine("'---------- ")

Shape figure;

figure = shape;
figure.Draw();
System.Console.WriteLine("--------—- ")

figure = sq;
figure.Draw();
System.Console.WriteLine("--------—- ")

figure = c;
c.Draw(Q);
System.Console.WriteLine("--------—- ")

test(shape);
test(sq);
test(c);

Shape[] shapes = new Shape[3];
shapes[0] = new Shape();
shapes[1] = new Square();
shapes[2] = new Circle();
foreach (Shape sh In shapes)
{
sh.Draw();
System.Console _WriteLine("--————-—-—- ");

}
}
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static void test(Shape sh)
{
sh.Draw();
System.Console_WriteLine("'--—-—————-- ");
ke
ke

class Shape

{

public virtual void Draw()
{
System.Console._WriteLine(
"Drawing prepared™);
}
}

class Square : Shape
{
public new virtual void Draw()
{
base.Draw();
System.Console_WriteLine(
"A square i1s drawn);
}
}

class Circle : Shape

{

public override void Draw()

{

base.Draw();
System.Console._WriteLine(
"A circle i1s drawn™);
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Drawing prepared

Drawing prepared
A square is drawn

Drawing prepared
A Circle i1s drawn

Drawing prepared
A Circle i1s drawn

Drawing prepared
A Circle i1s drawn

Drawing prepared
A Circle i1s drawn

@ (d)

M atrix
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using System;

namespace MatrixMultiplication

{
class Program
{
static void Main(string[] args)
{
Matrix a = new Matrix(2, 3);
a[1, 1] = 10;
al[2, 1] = 11;
al[1, 2] = 11;
al[2, 2] = 12;
a[1, 3] = 12;
a[2, 3] = 13;
a.print(Q);
Matrix b = new Matrix(3, 2);
b[1, 1] = 1;
b[2, 1] = 2;
b[3, 1] = 3;
b[1, 2] = 2;
b[2, 2] = 3;
b[3, 2] = 4;
b.print();
Matrix c = a * b
c.print();
¥
¥
public class Matrix
{
int nRow;
int nCol;

int[,] array;

public Matrix(int nRow, int nCol)

{

/> (@)
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}
public int this[int i, Int j]

{
get
{
/* (b) GB%)*/
¥
set
{
/* (c) GB%)*/
¥
¥
public void print()
{
Console . WriteLine("-----—--—--————— "
int i;
int j;
for(i=1; i1<=nRow; ++1)
{
for(J=1; j<=nCol; ++j)
{
Console._Write( array[i-1, j-1] + "\t" );
¥
Console._WriteLine();
¥
¥
/> (d) *
(6%)
*/
¥
¥
(€))
this.nRow = nRow;
this.nCol = nCol;

array = new int[nRow, nCol];
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(b)

return array[i - 1, j - 1];

)
array[i1 - 1, jJ - 1] = value;
(d)
public static Matrix operator *(Matrix opl, Matrix op2)
{
Matrix result = new Matrix(opl.nRow, op2.nCol);
int i;
int j;
int k;
for (i = 1; i <= opl.nRow; ++i)
{
for ( = 1; jJ <= op2.nCol; ++j)
{
result[i, j] = 0;
for (k = 1; k <= opl.nCol; ++k)
{
result[i, j] += opl[i, k] * op2[k, j];
¥
¥
¥
return result;
¥
5. System.Collections DictionaryBase
PhoneBook pb ” ”
key [1 PhoneBook
[1 Add Contains Remove
key value
(077777777
(02)56565656
(039)333444
(04)666789
(02)78978922
(02)74774755
(25%)

13/15



using System;
using System.Collections;

namespace UsingPhoneBook

{
class Program
{
static void Main(string[] args)
{
PhoneBook pb = new PhoneBook();
pb.Add(** v, tO2)TTTTITITTY)
pb.Add(*" ", ""(02)56565656");
pb.Add(** "™, '(039)333444™);
pb.Add(** ", ""(04)666789");
pb.Add(*" ", ""(02)789789");
pb.Add(*" ", ""(02)74774755™);
string key = " "
iT( pb.Contains( key ) )
{
Console._WriteLine(pb[key]):;
¥
¥
¥
class PhoneBook : DictionaryBase
{
public String this[String key]
{
get
{
return ((String)Dictionary[key]);
¥
set
{
Dictionary[key] = value;
¥
¥

14/15



public void Add(String key, String value)

{
Dictionary.Add(key, value);
¥
public bool Contains(String key)
{
return (Dictionary.Contains(key));
¥
public void Remove(String key)
{
Dictionary.Remove(key);
¥

}
}
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